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Sixth Grade
Il Bimester Language Test- Value 30 %

Construct the neologism with the next words.
[bye + Belgium]
[California + leave]
[Czech+ checkout]
[depart + Portugal |
[Italy + leave]
[oust+ Austria]
[quit + Italy]
[retire + Ireland]
[Slovakia + out]

[Texas + exodus]

IT Read the sentences and circle the correct form of the verb.

1 Chuck learned to .....fish and coconut water.

A get by on B get on by C both are correct

2 One day, he just ........... and cried.

A broke downB broke it down C both are correct

3 Sometimes he felt he couldnt ..................ev.ee... GANYMOre.
A carry on B carry it on C both are correct
4 It took a long time for his gums to ... the loss of the tooth.
A get over B get it over C both are correct

9 Finally, he ......... to leave the island with Wilson.

A set off B set it off C both are correct

uaLIVEWORKSHEETS



SAINT ANGEL'S

BILINGUAL GARDEN SCHOOLAND INSTITUTE

Tt it T
C

Student A, match the informal verbs on the left to the formal verbs on the right.

I ormal Formal
 p— T 3  discover ascertain
2 gadown b omt
3 lookat checkout €  indrease
4 __ findout d  sxemre
5 ____ putoff & decreaze
& ___ make f contact
7 geitimtouch g fabricaie
B __ leawsour h  postpons delay
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